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(13)3 + 73If1. = 20 then the value of r is169+49-x

(A)

,9
6

91

(B) 20

(D) 42

(B) 20

(D) 42

(13)3 + 73

169+ 49- x

(A) 6

(c) el

l:2
1:8

= 20 oeuflef r -ein to$uuneligt

Gunen$$lein +[pdl6D un$ ereflef =9{61r0dl6in san s16n6r{o6rfl6irr

(B) 2:

(D) 8:

(B) 96 min

(D) 99 min
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1

3. Waterflownintoatank200mxlS0mthrougharectanguiarpipel.5xl.25mat20kmph.
Water level rise by 2 metres in minutes.

{Pf e6 min

(D) 99 min

200 d $*Cplb, 150 L6 els6Dd reirar GlpnL-rqugl6in e.-6iTG6r'r 1.5 L6 $*Clrb, 1.25 L6 erueug:Lb e-ehor

sgJrJ6ur+6)r ($Pnur (96uton-5 neruflrig 20 6l.u6/Lo.Geus$$lcir paina#n a0qg$pncil painaafn 2 i6 e-ur1

fludlL-riseir.

3

2. If radius of one sphere is half of rad.ius of another sphere then their volumes are in the ratio

(B) 2: I
(D) 8: 1

(A)

,Jpf

gg Gonon$$leir gULonemgr LogGlpng
nd

6Dl5l5LDII6d'I6l-€
(A) I :2
(C) 1:8

(A) 69 min

(C) 98 min

(A) 69 min

(C) 98 min



2054

2945

(B) 24e5

(D) 5429

5.

2x +3y = 14 GLogLb

(A) r2o
(c) 160

6.

4. If TABLE is coded as 2L235 then TIME is coded as

(A)

,g/

TABLE ereinupein gdlu-9@ 21235 aefieu TIME ereinupeiir qgsluSrnomgr

(A) 2A54 '(B) 2495

(c) 2s45 (D) 542s

If 2x + 3y = 14 and ry = 3 then the value of 4x2 + 9y2 is

(A) r20 (B) r40

1yf rco (D) 180

W = 3 eredeu 4x2 +9yz -ebr Lodluunemsr

(B) 140

(D) 180

9c)
If r7, then the area of semicircle with radius 3b c-m is7'
(A) 1850 sq.c.m.

g 1925 sq.c.m

(C) 2850 sq.c.m.

(D) 3850 sq.c.m.

22a -ein Lo$luq 
- 

6r6rfldb gyib 35 Gls.d Glsndirrl-.9t6o[ euL-L-$$ein u[uu6n6!ri66rg1

(A) 1850 s.Gls L6.

(B) 1925 s.Gle.r-6

(C) 2850 e.Gle.d.

(D) 3850 s.Gls.d
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7.

(A) 10%

(c) 12.00%

If the difference between compound interest and
70% p.a. is t lbb then the principle is

2,00,000, a man suffered a ross of 20% the cost priie of the car is

(B) 2,40,000

(D) 3,0o,ooo

or9lSueorem 6eup$ei; eg6urr 20 opor5ldp pagrLoarL_Fpn-r. .gern snn

2,40,000

3,00,000

annually to

gf tr.nr*

(B) 11.5%

(D) 12.47%

By selling a car for Rs

(A) 2,2o,ooo

,p/ z,bo,ooo

qg. 2,00,000*g gO sr-i6or[

or nmdl u-l er91 eneu u nemg]

(A) 2,20,000

(c) 2,50,000

3000

5000

6!gL-p$,Dg 70%

qgreirpnain@sqgdg {

(A) sooo

(c) 5ooo

(B)

(D)

The population of a town increases 5% annually but is decreased by emigratron
the extent of j%. The population increase percent in three years ls
(A) rc%

(c) L2.00o/o

(B) r7.5%

ao p'[pdeiir Lo66eir Gpn-eno :gain0,frcg 5 +pe,961pLb a-u:rdlpg erGp +LouLb grg6uur+Eugleorneu
1 +po$6lpLb gain@6g& (96Dpdl,Dgl. geiirpneoor@s6rfl6u LDris6iT Gpnens ruqgLb epergdpLonengL

q

(B)

(D)

6,rlq o96lp$$ar e,LO eurE6lgLb

1 5 5 ereofl ef c)1 sa; r6t-rg

simple interest for 3 years at the rate of

4000

6000

euL-rA$qgLonelr e0$$unern

4000

6000
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A
10. What comes

st Opg 6u (D6rgl creineol?

11. The missing letter is

A
w2

I

@
9

(B)(A) @
@

@
@

(B) T

(D)

(D)

(C) U (D) V

t

(B)(A)

(c)

,Jf ,
er9@uL-i- eiqg$pnangr

(A)
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12. .Match the following :

(a) Prarthana Samaj

(b) The Arya Sarqaj

(c) The Dev Samaj

(d) Brahmo Samaj

(a) (b) (c) (d)

(A) 1 .3 2 4

(B)2134
(c)1 234

,y2 B r 4

ClLJnrntisrs :

(a) L9rynn$pen oLongib

(b) +flu: +LorigLb

(c) Gper eLongLb

(d) EyLbLo eLongLb

(a) (b) (c) (d)

(A)1 324
(B)2r34
(c)r234
(D)2314

1. Satyanand Agnihotri
2.' Atmaram Pandurang

3. Dayanand Saraswathi

4. Rajaram Mohan Roy

1. +$unen$perdeffiGsn$rf)

2. g$LoqnLb unann@7m

3. pu-.rnen$per:eiuerd

4. qngn-r7nLb GLonoein qnu-L

13. A national religion called Din-i-Iilahi was promulgated by
(A) Babar

(B) Humayun

,g/ Akbar

(D) Jahangir

$ein-Sl-eunpufl o'etrparpdsuLrL-r gg Gpdiu sLDurLb $leuqnef Gpnpg66l,frsuuLrgr

(A) unun

(B) gyfrLongein

(C) eltirn
(D) ggennsn

AGGS/19
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14. The famous shore tempie at Mahabalipuram was built in which century?

,r(/ Seventh centurY

(B) 8th century

(C) 9th century

(D) 12th century

LoonueflqTpi$leu e-oirori qog]leunu:$p sr$seory6 Gonu9eu 6rpp glTppr"i"qnu srrurrrgt?

(A) 7 +lb gnppnai'n@

(B) B +rb gfipprraitr@

(C) 9 +,b glr.Dprr6drr@

(D) 12 gr-b gnppnairi@

15. Which of the following statements about arrangements is true?

I. Arrangements spent the last 25 years of life in Deccan.

II. In 1662, Arrangements had a serious attack of illness.

III. Arrangements received complimentary embassies from Shariff of Mecca and Others

IV. The Sikhs were safe guarded by Arrangements.

{Pf ,,II and III
(D). III and IV only

g on- g' ri,L Su eo u e Cg dl pp S 5! o aiur L- a'$ g s ofl eu eienerl e ef l ur r6dr6o err ?.

I. gcn-yfie$u Jq6rr(D6oL-ur 6grd 25 .gain@oaron p6ono'm$$reu o$$pnn.

II. 1662, genqtilsdu a-r eu$leoeu r-6ls GLDrslons un$risuuL-L-gr.

III. genrynilo$u GlLorisn66l6iir Glaryrflu LoppLb r-91prf1L-r-6l19$g grgrer.rn-seoon Gu$pnn.

IV. gonryri$u $&6lu.lnseoerr uiiglsrTuqL-ein un-n$grri Glsraitrl-rfl-.

(A) I, II and IV

(C) I and II only

(A) I. II LorirrnrLb IV._e

(C) I LorbrnrLb II

(B) I, II Lo$grn III
(D) III.LorirmrLb IV

-e

AGGS/I9



16. Consider the following statements :

I. The second phase of Indian National Movement was started in t9tg and lasted tiII
1947.

iI. Thby wanted to achieve Swaraj through the methods of Self-reliance.

Choose the correct answer from the options given below.

(A) Both I and II are true

,Ff Il is correct I is wrong

(C) Only I is true

(D) Only II js true

S ppaailrL- e.u nri8 uj mr selr 6n s6! 6dfl {isal Lb.

L Ar.o6. Gp8u$$ein $lrainrnLi: ol-i- GunrynL-r-Lb 1919 -eu GlpnL-661 1947 -a)gtqereoL-$pgr.

II. 44ernoeir cu-Lrlngglu$eop petroorLb6ltieors (p6Db €r6DL-r1r o6llgLbr5lornn'.

65!G1sn@tisuur' L-$le8q9$g +rfiu-rnem e.6leo-rL-eou$ Glpflu,,i Gleuru:eqLb.

(A) I Lopgrb II $qaim@Lb erfl

(B) II erflgenneu I paLg

(C) I LoL-@Lb erflu..rnerrgr

(D) II Lor-@ri: +rflunengr

17. In which year Indian Universities Act was passed?

y*f reu4

(B) 1e03

(c) 7e02

(D) 1901

6rpp gain@ Op$tr ueuserreu6 aps +l_L_Lb $leoglGa-r$p11s1r gt?

(A) 1eo4

(B) 1e03

(c) 1e02

(D) leol

AGGS/I9
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18. Consider statement and Reason, choose the correct answer from the codes below :

Assertions (A) : Federal state.is guided by strong desire for irational unity.
Reasqns (R) : It is developed out of necessity for union of independent states-2
Yf Both (A) and (R) are true and (R) is the correct explanation of (.a).

(B) Both (,{) and (R) are true but (R) is not correct expranation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

EGp Glon@6euuL-r- s1g$gqgo9eu, snrTeourLb, ofl6rciap6op +urerl Gou-rg Glon@deLruL-@eirm.
g $l uS @ s orfl dl CU,o gt e f l u'r n6'dr efi eo reo^r u: Gp n $ 6l p @ r;s e4 r-b :

sOP51 (A) : 6ugl6uren Gp+ g$genuou9eirr e6l19ull$$leir Gurfleu so,rl-ns$l arg! pL-$puuOdlpgt

5n[@orb (R) : perfluL-rr-L- Lonpounaroorflein gsgeoLougein Gpearo.L oCfS 6rg1 e-qgor'ntioL-ru66]pgr

(A) (A) 
'-oDg1b 

(R) 6'lA*OLb +rfl, (A) eir efturr6ur erglorrioLb (R) +q5,b
(B) (A) rpglb (R) $tratur@Lb erfl, (A) eb srflurr6rl or5l6n6sb (R) ereuou.

(C) (A) *'fl geurn'eb (R) pa.,gr

(D) (A) parg gemner.r (R) erfl.

19. According to the Citizenship Act of 1955 how many ways have been prescribed fo. 
""qrl*ingcitizenship?

(A) 4 (four)

(C) 6 (six) (D) 7 (seven)

1955-b +6dr0 grqqfl6ons et-L-$$lein urq ff$p6n60T el$sofleu qgrqqrfl6orD GL-LpeunLb?

(A) pr6i'rg (B) A,Egl

(c) +e (D) qel

20. which are the articles come under the Right to freedom of Religion?
(A) Articles I9'- 22

.gf 5 (five)

(B) Articles 23 - 24

(D) Articles 29 - 301f Xticles 2s - 28

Lop ap$$rr e-rfleoLouflein E$ eugLb eL_L_ ergl$lseir u_Lneoeu?

(A) erSl$seir 19 - 22 (B) efl$se;ir ZB - 24

(C) aglglscir 25 - 28 (D) a$t$ts€jiT 29 - B0

AGGS/lg 10 C



2I. The salary and other perks of comptroller and Auditor General of India is equated with the

salary of

(A) The Governor of the State.

(B) The Secretary of the Union Secretoriate

(C) The Judge of the High Court

,g/ The Judge of the Supreme Court

p6D6D6DrD pouflrieors6 oL-@uunr--@ el$onrfluS1etr elbuffrLb LDpgLb 6rp'fr-, rrqseir $lgeueoL-u-r

ecrdl u ri6l rir rs 6) s nn6r-rsr
- ---v-

(A) Lonpeu +@,bn

(B) LDpdu Gleueus$$leinGlsu6Dn6rrr

(C) e-u-rnfidi Loeinm fi8udl------
(D) a-e+$$lLoeine $S"6

22, In which way the process are shared between the state government and the central

government in India?

gf 
"*t 

system

(B) Decentralisation

(C) Party system

(D) Understanding between control and state governments

$$$lu:na6leu LDp6,! elqctiqgLb rnda: er[ss€06(gLb $rarL-Gu:.sr$lsnq.Lb crareung u61[uu@dlp51?

(A) uL-rqueu (g6Dp

(B) .a$snrlu urTeueunriseu (g6np

(C) sr--E goeogr

(D) uop$u Lon$)euriroqg6dlenL-ugleunar qrflpal zuD6unng

AGGS/I9
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23. Assertion (A) : Each State is headed by a Governor
Reason (R) : The. Governor is elected by the Electorai college consrsting of the elected

members of the State Legislative Assembly
(A) (A) and (R) are True. (R) is the correct explanation of 1.A)

(B) ^ (A) and (R) are True but (R) is not correct expranation of (A)
-f (A) is True, but (R) is false
(D) (A) is false, but (R) is true

a'fg (A) : garG)ernqg LonseugrLb +€D,Efl6iir perreuenLougluin Sp zeireng.
snryauri (R) : Gpno16gq9 areuruLr@Lb Ggr$Glp@risuuL-L eL-rLoeirp zgurgecrnaGon gqgpeory

Gpn$Glp@ri6pnneeir.

(A) (A) LoggLb (R) 6r'l"l"Orn +rfl. (A) -ein srftu_rn6il o6l6rrioLb (R)

(B) (A) LopgLb (R) AramoLb erfl gemnnil (A) -ein efrurn6r'r e6ron'.ioLb (R) ereueu

(C) .(A) s'fl.?teornei; (R) palE
(D) (A) pegrgenneu (R) srf)

24' liccording to the 73'd Amendment Act, which specifies what amount of population of a state
may not constitute'Panchayat at intermediate level (Panchayat Samithi)
(A) less than 5lakh (B) 'ress than 10 iakh
(c) less than 15 lakh agf less than 20 takh

73erg dcrypp" eL-L-$$ein urg Loriaeir Glpnensugleiir €l+uu6nL-u9eu orpp 3lrerr6,9l,Dg E$ e-eir611 gO
r-on-$)eur-b SeoL-peoeu (ugenu$gr eL6$) erarLoueoru p-eirerrrrdli4eo-rr.our-glar e-ainL-n-ris gorqungL.
(A) A,Egl eure$$fgLb lgeopouns (B) u$grour__e$SeCg,b (ga)porrg
(c) u$leoeorpgreur+$$gqgib lgengrauns (D) 6ro"gr euL-+$$gqgLb lgeo-rgrouns

25. 'The Indian Telephone Industries Limited the first public sector undertaking in the country
was incorporated in

v/' tni, (B) 1eb1
(c) Le52 (D) Ls4s

OpSt pnL-raein @p6D Glungr$gLarp pgeuenLoneor 6,oS. GpneoouGu8 Glpngleb 615lL6li
geingrnrisL_Lur_L_gt

(A) 1e5o G) 1e51
(C) 1952 (D) 1949

AGGS/I9 L2



26. Which of the following is incorrect?
(A) GDP at Market price = GDP at factor cost plus net indirect taxes
(B) NNP at factor cost = NNP at market price minus net indirect taxes
(C) GNP at Market price = GDP at market price plus net factor incorne from abroad-)

{rf None of the above

SG p G) s n@ ris u u r- @ eireneu $fl eu 6f 6n6u pou p nolrg ?

(A) .elrlrsr-n+ o6lareuuS)ef Gron$p reiipnL_@ zpup6 = snry6rufl efleneu1jleb GLon$p e_oirpnr@ e_pupg
LDpgb $lsrr LD6Dg)(!Ds orrflooir

(B) snqomfl ofleneuugleb $rs[ pnl-@ E-Dups = sr,"rsr$ a,freoarugreu $oq pnL_@ s_Dupd - 6*'
LD6Dg)GD6 eirrfls6ir

(C) €1rH5r+ ergleoauugleu GlLon$p prLO e-pup$ = =:4mre nrg ofleoeuugeb GlLon$p a-oirpnr@ e-glup$t +
G eu erflp n L_ qoi, 6t O,ogl 6x 19 6 cr n ryeoofl s ofl ein $l e q eu 1g Lo neur Lb

(D) GLo$a,flu creolarqLb Slebeoeu

27. Mass poverty in developing countries is due to
(A) Inadequate development of resources
(B) Low per capita Income
(C) Heavy population pressure

,lr? A1l the above

eu6n(Db pn@sofleu g$o gerrer1 6rlg6on eySuL-d onr7eofirb

(A) er.iorruseir qgoeinGorsglLb Gungtmnenpns @eUeoeu

(B) g6op,Ep.9t6ne'lpeunouqgLonemLb

(C) er$ls Lo$seir Glpn-eoo €{L_ftS61

(D) GLo$Geneinorener ereoeorpgLb

28' Modified National Agricultural Insurance Scheme was launched in India during the period of,gf 2o1o - 1r (B) zorr - rz
(c) 2012 - 13 (D) 2OL3 _ 14

Lon$flu:eoLotisuuL-t-- GpEu-.r erglaisnur urglsruq $li-L-Lb $r$$lurnaglefu etflgosuu@$puuL-L- snarLb
(A) 2010 - 11 G) zl:l _ 12
(c) 2012 - 13 (D) 2013 _ 14
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1gg rir Gs neira eir $ ar er s eg,itCg $ eo r-u9 eu s neuur u u @ 6l utnp eo-t

(A) qpeiii nggLb Gleuen.eifl (B) Gloueirorfl LogrgLb gLf)

(C) gu8 Lo$gLb Gle6!6unur (D) Glsor6unur LopgLb o$unpein

30. Which Monsoon area d.oes India comes under?

(A) Area of monsoonal tendencies (B) Area of monsoon effects

(C) Area of modified monsoon ,Jt'Area of true monsoon

6p$rn ereLregp uqgar$leoeu uCg6d;(g E5! a-eirorgr?

(A) Loeop&sneu Gunrilgsafluin rCgd (B) u(D6rrlo6op or9arenerl ug$

(C) LonpgruuL-r-- ugeu$)eareu ug$ (D) e-6ddr6DlDun6ur u(D6utD6Dp ug$

G u-.r na gD nuo n Gl sur 6D 6u 60 [6r] $l L-r--Lb St p gr.uin Gl p n-L- n q Cl s nainL-gt .

(A) $u-.rpeosoren GLoeuroweoLo (B) $u$errs Gurflu GLoeunedmenLo

(C) s-eus Gunnoeir (D) e-6Ds orgt6otD

29. Asteroids are found between

(A) Mercury and Venus

(C) Earth and Mars

32. The ore of mercury is

(A) Garnierite

(C) Sperrylite

unprfe$$ain pngr

(A) enneofleoqL-

(C) ciuGlun'rfleoeuL-

AGGS/I9

(B) Venus and'Earth

.tf Mars and Jupiter

(B) Chalcocite

{r/ cinnabar

(B) sn6DGsr6nsr

(D) fleinemunn

31. Yokohama strategy and plan of action was associated with

(A) Natural resources management .llfNurural Disaster management

(C) World Wars (D) World PovertY

L4



33. The seeds which contain abundant glyoxysomes are

(A) Dry seeds

,g? Germinating seeds

(B) Wet seeds

(D) Shrunken seed.s

dl err onu-L n'ri;arSl Gsnlb oe'cr 6r e1 u rfl L6l p Lo n-sli Gl s n6ii.nl_ oE eo ps eir

(A) e-eun aCIeopoeir (B) r+qe$eopseir

(c) gceoen6lgLb ersleopeeii (D) algrirdlu-r aSleogseii

34. Which plant is an excellent example for autonomic movement of variation?

,.f/ Desmodium gyrans

(B) Crocus sativus

(C) Oxalis corniculata

(D) Oxalis latifoiia

pein $ulfre LonpppSlpCq peoeu Clgr$p E-prrfosn"Drrcp Sc1196 pnoLq.rb erg?

(A) 6L-ciuGLonrlurLb eooqeinciu

(B) gGqnsciu e6DL-6u6iu

(C) g&orne6lciu unrrefllgGeuL-r--n

(D) g$erunerSloiuGeuL-raGunerslurn

35. Where does oxidative phosphorylation take place?

(A/ cnloroplas t ,4/'mitochondrion

(C) ribosome (D) lysosome

g6on5l gGen$ p u neiuGu L- Genu q errrl g Gp rfl @dl pgr ?

(A) uanirs6rflo6 (B) eoLouGun snainulFlu-rein

(C) eoryGunGenLb (D) eoa;GenGsrLb

AGGS/I9
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36. What is physical and mental dependence on drug; called

(A) Neurosis .t f Adorctron

(C) Sedation (D) Indication

e-L.eu rf$ u-r noaq Lb Loorfi $l tu LD rf 5 Ln g$gr s qgti€i e{ q6D Lo ur n19 d: u psa Lo

(B)

1r

or-euuu@Lb

(A) $iqGrrnenleiu

(C) Lou-rtislb/GlerGL-ogeir

37. The enzyme that joins DNA fragments is

(A) Restrictionendonuclease

38. In a reactor the moderator is

(A) Uranium 234

(C) Cadmium

Lipase

Ligase

(D) Peroxidase

e.crein. e;. g ain@seo on g L-O 6rrpp (5 u u: einu @$p u u @ r-b Gl,o uS

(A) Gl[6iu+fl66'+ein ereinGrn$lgri;e$lGu-roiu

(B) eoeuuGueiu

(C) eneuGseiu

(D) Gluryn6on5lGL-eiu

(B) elqBaq6i'T

(D) $einraGoaqein

(B) Uranium 238

.Jrf Heavv water

.argl6u1g e-eoeuu9al er5t patfl u u rein?

(A) qGrrerflu.:Lb 234 (B) qGryeuflurLb 238

(C) srl-r.6lurLb (D) urq6rT $n

AGGS/I9 16



39. The first metro city in India to get a floating market is

(A) Chennai

(C) Delhi

(B) Mumbai

,gf Kotkata

(B) Mumbai

(D) Bengaluru

(ts) goriunu.:

(D) Glurrilsqgg

d)p6grn Jltrilsn-+s6nen GlugLil 69rpeu LonpsTLb o-g?

(A) Gls6irr6o6n . (B) grLbunur

(C) Glr-euer5l (D) Gtsn-eus6sn

40. The first city in India to have a common mobility card for rides on public buses and the

metro rs

.4f Dethi

(C) Kochi

Guqg$gadr LDDgLb G.oL-GrJn quglouaaflef uuiedo'rlb GLof 61sneir6n- 'Glungj uur6d6r €lL6rrL'

etflgosuuOp6ul Cppoio 6t,odr porlLb orgl?

(A) GlrareSl

(C) Glsn&8

4I. Who is the president of World Bank from April 2OIg?'

,gf David Malpass (B) Jim yong Kim

(c) Raghuram Rajan (D) Aravind subramanrvam

6JU[6D 2019 gLb +ain@ gopeu e-eus elriduglein peo..reueln ulnn?

(A) GL-erSir-- Lonebuneiu (B) $rn u-rnru$Lb

(C) t.€ilrlbtffg6irr (D) a176gi.b aur519.Loemflu:rj:

AGGS/I9
[Turn over
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42. NASA's Mars Helicopter will reach the surface of the red planet in the year

(A) 2o2o {/"on
(c) 2022 (D) 2023

43. The name of nerv era of Japan is called

lf Rerrva

(C) Showa

(B) Heici
(D) Meija

guunein el[sn pgguflL-GL-nerSleiir gr_.Euglein ee nuglb
.sleogrisuuGrdlpgl

(A) (Reiwa) Glqu-raLn (B) (Heici) GteDurE

(C) (Showa) Gergnorn (D) (Meija) Glrourgn

44. where was the jumping spider spotted in India during the year 2olg?
(A) West Bengal
(C) Andhra Pradesh

(B) Orissa

2019 grb €aitr@ gLbr5lru eiuonurn $$$unefleil crnar6 snouruur--rgt? (Cg6,fig,b So$$u gsfl)
(A) GLopCA ouri:snonrb (B) giflorun
(C) +,D6ry,6lqGpeLb (D) pdt1jl,rn@

45. In October 2017,India held anti-submarine warfare exercise with which of the following
countrv? --(A) illyanmar 6 Japan
(C) Vietnarn (D) Australia

=griqGL-nun 2ar7a)6,o$lrn cr$p pn@r--ein $ri(P$s cr$lnuq Gunn uugffl BL-$$ugr?
(A) l6lunoinLon (B) gurnein
(C) oglurL-pnrb (D) gciu$G[6r5]urn

under the rule of emperor Naruhito

6r6rrp SuurTneil

Bneno$ein L-onneiu Glgrrerllsn"urn' Gls6uornur (Sleuuq) 6lr1s$eop

<:ll6nL_u_.lrD

(A) 2020

(c) 2022

.Jf Tamil Nadu

+ain-O Gleeirrg

(B) 202r
(D) 2023

F18AGGS/19



46. In (AtaI Ranking of Institution on Innovation and achievements) ARIIA Z1Lg, which of the
following institution has secured the top spot in private institution category?

,r/ lerrt-,re rnsf,*ur,e or r ecnnology

(B) SRM Institute of Science and Technology
(C) Arnirtha Vishwa Vidyapertham
(D) Sastra Deemed University

ARIIA 2019 peffiunn$lgeuenrils6rfl6itr erenougar grpe0r-Lb Glr,op $gorenLb ergL?

(A) GergrnAuinnir+qgL_ g.'.u Grdeurneu$ flnT)
(B) ereiu.gn.ei-b 6ruinuiu++gr g.""u eugr6i'6iu €r6roro 6r--darneug!1

(C) erdlnpn ergleqarn argl$u_in rgL_Lb

(D) enerurryn roLb@ qeofleunenSL_rq

47. Who won the US open 2012 mixed double title?
att r\Iartina Hingis and Jamie Nlurray
(B) Martina Hingis and Jean-Julien Rojer
(C) Chan-Hao Ching and Jamie Murray
(D) Chan Hao Ching and Nlicheal Venus

US guein 2077 6tts6DUq $lrlL-eoL*u-Ln LElfl6,916D ur--r-Lb Glo-reiirgrarnseir ereun?

(A) LonnL-rgenrr dlmrdl6iD LDpgLb Glgrtrl.gGq

(B) LonnL_rgemn pdilrusl6iD LDpgLb $ein - gl6slurein Gqngn

(C) Geein Gparn $ra LoggLb Glgu6l grG7

(D) G+ein Gpon glm LoggLb orLori;Gs6b ergeneiu

48. Who will act as the chairperson of GST Council?

(A) Prime Minister (B) president of India

,J2" Union Finance Nlinister (D) Chief Justice

GST oer16indleu peoeuourJnu u:r1n Gl+u-Lef u@ounn?

(A) unrlp r-9l7pLo r,D$ln (B) S,16. georn$u$l

(C) ,616 r,oSf rfl (D) p6o6D6or.D SSuS

AGGS/I9
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49. The number of prime factors of (3 x b)'" (2x 7;10110;25 is

(A) 72 (B) 82

,/rf s4 (D) sz

(3 x 5)1212 x z)10(to)" -uin GrLon$p uon snTemflsaflen erer-meorfldeosu-rfi6drg

(A) 72 (B) 82
(c) e4 (D) s2

50' Monthly expenditure of a person rvhose monthly salary is Rs. 9,000 is shown in the diagram
percentage of money spent for food expense is

(B)

,J,?
20%

40%

Elpean'uer n'g GleeueLl Gleu:pn-eu 
"9t6u n e-euurergl $one Geatargl @ Lb

Food
Expense

1.44"

(A)

(c)
50%

30o/o

g. 9,000 Lonp+ eLbuor$$cir p@err
+per5pLonengL

e-aroreqBeneur

Cleoeq

L44"

(A)

(c)
50%

30%

(B) 20%

(D) 40%

20AGGS/I9



51' A, B and C can do a piece of work in 36, 54 and 72 days respectively. They started the work
but A left 8 days before the completion of rvork while B left 12 days before the completion.
The2umber of days for which C worked.

6 24 (B) 26
(c) 28 (D) 30

A, B, C ereinp qgrehgr Gun gg Geueneuenur goengrGu-L 36, 54, 72 pnr-sorflel goEurn. g6ni, A a-eiiruern
Go,:eneu (PSelppg B pnL-sqgri1g greinunoallb, B ereinuarn 1-2 pnL-sqgtiqg geiirunseqr-b e$eudl6
Cl snai.nrenn C ereinu er n 91 eu Geu eoeueo u er'$peoren p nL-sofl el go rau u n-n ?

(A)

rJt/

53'fi',
3

.A
J

o6l $t u L-L- erai,narornemgt

(A) 12

(c) 35

The missing number is
(A) L2

(c) 35

'A'
2

,A'
2

(A) 24

(c) 28

52' If x = 2.414 then

x = 2.414

(A)

(c)

-eiir Lo$luunengt

2

4

2

4

the varue 
"r (, - *)' r,

, ,t

^. ( 1)-6r6dTr6Dlr--l
\ r/

(B) 26

(D) so

(B) J'
(D) 8

(B) J'
(D) 8

20 /?\ 5
,/\

n

*/,,
(D) 100

n20l?\5
7

(B) 28

(D) 100

AGGS/I9
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54. Even after giving a discount of 20% the shop owner gets a profit of I0%.lf the marked price

is Rs. 2.200 then the cost price is

.tfRs. 16oo (B) Rs. 1760

(C) Rs. 1800 (D) Rs. 2080

20% penguq.i1g rgleinengr-b erglu-:nunrfls 6 IO% eunub 6lenu66glgt tgdlpp ergleneu g. 2,200 ereofleu

+il u-ss er9l eoreu creinen?

(A) q9 1600

(C) q9. 1800

55. A train running at 54 kmph takes 20 seconds to pass a platform. Next it takes 12 seconds to

pass a njan walking 6 km ph in the same d"irection the length of train and length of platform

are

(A) 150 m, 130 m

(C) 106 m, 140 m

160 m. 140 m

(D) 160 m, 104 m

54 616/to Geue$$ctu GleeugLb $quqA 6!6r0rq pearL-GLoeoL-eou..r 20 Glpnrqs6{flCI sL-pgl a,5l@dleinpgJ.

GLogri erGp $en+u9l6D 6 6l.r-6/Lo Gore$$eu pL-ri6Lb Loaflpeneur 12 G)pnrqo6rfleu uL-$gr e6]@6lebpg,t

e u Gi u nqg 91 6r r:'u9 e$l ein $ enr-b Lo ! g Lb p ao L-G n eo i-u!l ein $ arLo neorgL

(A) 150 16, 130 L6 (B) 160 16, 140 L6

(C) 106 16, 140 L6 (D) 160 16, 104 d

56. If length is 12 m and breadth 8 m then perimeter of rectangle is

gyf no^
(D) 20 m

' gO Gtearouo$$ein $onLb 12 1,6 erpein ers6Drb B r-6 ereffial Gl+er:ars$$ein o$glonerneorgt

, (A) 96 LS (B) 40 rS

(c) 48 L6 (D) 20 d

(B) q9 1760

(D) q9 2080

(A) 96 m

(C) 48 m

AGGS/I9 ,c,



57. The total surface area and curved surface area of the right circular cylinder of radius 7 cm
and heieht 20 cm are

-gf Totai surface area = 1188 cm2, Curved surface area = 880 cmz

(B) Total surface area = 1818 cm2, Curved surface area = 830 cm2

(C) Total surface area = 1188 cm2, Curved. surface area = 830 cm2

(D) Total surface area = 1881 cm2, Curved surface ar,ea = 880 cm2

90 $aittLD Gpnatr--L- zqgeoonugein €ryLb 7 GleL6 LDpgLb e-u-1ry1b.20 GleL6 o6rfl6D etp6ia GLon$p u[uu6na.l
LDpg Lb al 6o6ru tu u 6nal r6drg]

(A) GlLon$p u[uq = 11BB e.GleL6, or6o6nu[uq = BB0 s.GlsL6

(B) Glton$p u[uq = 1B1B e.6]sr-6, 6u60)6rru[uq = 830 s.GsLs

(C) GLon$p u[uL{= 11BB s.G}sL6,eu6n6rru[uq = 830 e.GleLs

(D) GlLon$p uful] = tBBl s.GleL6, 6u6n6nu[uq = BB0 e.G]sL6

(B)

,Jr"

The largest four digit number exactly divisible by 12,lb, 18 and 27 is

58. The LCM of 90, l50 and 225 is
(A) 150

(c) 350

90, 150 LopgLb 225-u5l6irT rfeSlg Lor--niL19

(A) 150

(c) 350

59.

2250

450

(B) 2250

(D) 450

(B) e460

(D) e270

(A)

.€
eeeO (B) e460

s72O (D) s27O

L2, r5, 18 Lo$gLb 27 -4eu a:1guL-ti*'rguL dlcuGlurflu: pneinlg $leuBs oraimamnemgr

(A)

(c)
9990

9720

60. If.2x+3y=31 , !-z=4 and x+22=11 thenthevalueof x+ y+z is
(A) 11

(c) 12

(B) 17

gf tu

2x+3y = 31, / -z =4 GLogrLb x+22 =11.o-ofleb x+ y +z-einLo$uunengt

(A) 11 (B) 17

(c) 12 (D) 15

,; AGGS/I9
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61. The value of a machine decreases by 5% every year. If the purchase price is Rs. 60,000, after
three years the value of the machine is

,g/ Rs. b1,442.b0 (B) Rs. 6b, r44.zb

(C) Rs. 5,144.25 (D) Rs. 6,514.43

gO 6ru,o$,rp66itr Logtq gerGlernqg +6mr@b 5% lgenpdpgl Ou-,,86'I$$lein errds6,9l6r,6D q9. 60,000

ereofla; 3 ei:qgrmsqgdg r-9eiii Sputn to6rq c,rc,ueu?

(A) E9 5I,442 50

(C) s 5,144 25

62. What comes next?

c + y, d,+ r +1, e + w +2, f +u+ 3,....

(A) h+u+4

(C) g+s+4

gt Opg err(g6ugl qreueor?

c + y, d+ r +1, e + w +2, f +r,+ 3,....

(A) h+u+4

(C) g+s+4

(B) s 65,144.25

(D) q9 6,514 43

(B) g+z+4

,gf g+u+4

(B) g+z+4

(D) g+u+4

63. The religious sect Ajivika, at the time of Mauryas was founded by

(A) Bindusara

(B) Badrabahu

Subandhu

Makkhali Gosala

GlLoenrflu-Lnoori gr--fle nnDpSl* erglor9lrien'eieingr eLou-r r-glrfleoo-r GpnSgagl$peun?

(A) rflggr+nqn

(B) ugr:'unqg

(C) surisr-€
(D) Lo&safl'Gsnealn

(c)

,Jr/
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t612

16 10

(B) Aingurunuru
a (D) Pattinappalai

(B) 1605

(D) 16oe

64. Which of the followine Tamil literature mentioned about Tiru Onam Festival?

(A) Kalitogai

,J2/ Maduraikanchi

dleinerrmLb erri,o su6]Lb 6leu66iu,rd'6la-l6lrmGarneomLb eieinm 6lrme,9luon rsrflur-9lluur-fileironsr?v---q@-v--vev-d

(A) satliiGlsn6ns (B) eDrursmrrhnml
- - 

vd€d

(C) Logeoryrisng8 (D) uL-r+6r-ruur60r6D

65. By which year the Dutch established their factories at Publicat?

(A)

,gr

6fpp 6u(Dlp$eu r-&arionqneeir ugGer:SanL-rqeu pdoorg ern-ooflu$peu16rs6D6rT $lgo,9lorn?

(A) 1612 (B) 1605

(c) 1610 (D) 160e

'66. Which discourse of Gautama Buddha has been called as the "Discourse on the Turnins of
the wheel of Law"?

"f 
Discourse at the Deer park at Saranath

(B) Discourse at Sanchi

(C) Discourse at Lumbini

(D) Discourse on River Narmada

GlsenpLo l1pgfl6ir er$p r9lr;-+rusLb "sL-L-s +6s7$eorp SCO"qrb EryeruoLb" ereor *leoprfrauu@dlglgL?

(A) enqpn$$eu p-eiror Lonein Gpni-L-pS6D 6uu-rp r9qemoLb

(B) en'q$Eu91eu Gl+u-rg; r9ryerie6

(C) glLb8adu9leu Gl+u.rp r-91r1erisLb

(D) pnLopn p$l&eeoTu9lein Gleurp r9lg'+rilsLb

AGGS/I-9
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67. In L922 Gandhiji was sentenced for six years for writing his articles in which among the

following news paper?

(A) Harijan

{ff Young India

(C) India Tod.ay

(D) Bombay Samachar

7922d on,Edd EeineugLir er$p Gleur$$pnorfletu peng sr@6o[s6o6rr erqg$upfsrs +g oulgrLb

pai,rlaoen orgl $rieu u r--L-nn ?

(A) eDflp6in

(B) unu $tg$tun

(C) $tp$lu.ln @GL_

(D) unLbGu elonssnn

68. who threw the bomb on Kings ford, the unpopular Judge atMazzafarpur?

,AKhudiram Bose

(B) Nadiram Gosh

(C) V.D. Savarkar

. (D) 
"u*1, 

singh

,;, ,; s
G)EB r u n gr,o6 

" 6 6l dL eiu Gu nn@ dg Gl ar q1$ain@ erSfl u-.r or n u-.r nn ?

(A) €islrLbGuncirj

(B) pn$lqnLb Gsneg

(C) V.D. s6urndsn

(D) usg flrir

AGGS/I9 26



69. Where did the Moplah Rebellion of. 7920-2I broke out?

(A) Orissa

,ff Kerala

(C) Andhra

(D) Karnataka

I920-21.-6D LDffu6tr-m-seusLb peoL-Clufgl $lr-Lb o.g ?

(A) grfleiuorun

(B) Gsrlorn

(C) +,bdrr
(D) snpnL-sLb

70. In 1982, the Agricuitural Refinance and Development Corporation was merged into
,-

{lr NABARD

(C) RRBs

19B2-6u Gerennedw rDg,6l$ LDO9LD eu6n-n'e8d sgsLb

(A) NABARD

(C) RRBs

(B) LDB

(D) SBr

ein $teoerrr6suut-r gl

(B) LDB

(D) SBI

(B)

(c)

(D)

f the following is true about the constitution of India?

Adopted on November 26,1949 and enacted on Jan. 26, 1950

Adopted on Jan. 1949 and enacted in Nov. 26 1950

Adopted an enacted on Jan. 26 1950

Adopted and enacted Nov. 26 1950

6tp$ r s1 qfl u a;eo Lo u q u D dl E gpeetin L-er $g eir a.gr E-edmeo ro.

(A) pa.rLbun 26, 1949 eu 6I$gdGlonononuuL-@ genourfl 26, 1950 sL-L-LDn6suuL-t-gt

(B) gerierLrfl 26, 1949 eu 6J$gu{iGloneirenuur--@ peubun 26, 19506D el-L-Lon{isuuL-t-gt

(C) gaiourfl 26, 19506D 6J$grfrGlenoncnuuL-@ sL-L-LDn{isuuLr-gJ

(D) peur-bun 26, 19506D ;IbgiBGlsn-6ir6nuur@ eL-L--Lon6suurr-gl

27 AGGS/I9
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72. Who is the Ex-Officio chairman of the Rajya Sabha?
(A) President V/Ur"u_president(C) Deputy Chairman (D) Speaker

goeiireorn'eu er$snrflqL-eurn-eur'(Ex-officio)'7ngu_r sun p60l6D6!n unn?

14) geurn$lu$l (B) gr6n6rn genn$tugl(C) g1eoeomgipeoeuern (D) 6,_r+ro#o 
- -

73' 56 man can complete a piece of work in 24 days. In how many days can 42 man complete thesame piece of work? :

(A) 18 O/r,(c) e8 (D) 48

56 Gun- 919 Gelleo^reu eou 24 pnL-oafleu G+urg grq6dl6irp6rrn. ereufle! 42 Guf ei$p Geueoeuelru eiprpooeur
p nL_safl eu Geu_rgL gorau u n?

(A) 18 (B) 32(c) e8 (D) 48

74. Match the List I with List II :

List I List II
(a) Members of Finance commission 1. Articie 324
(b) Members of Election commission 2. Article BBg
(c) Member of UPSC 3. Article 316
(d) Member of SC/ST Commission 4. Article 2g0

(a) (b) (c) (d)
(A)^ 4 L 2 3,g?4 r s 2(c)32r4
(D)3241
uL_Llureu I Lopglb uirlueu II Gpneq Gleu-lgt Gunqgpi5te :

urrquteu I urrs-ul6f II
(a) ,6ld6g(9 e_gur_gtemnseh 1. 66l$t 324

. (b) Gpnpeb +6n660rur a_gugemn-seir 2. 6616 338
(") I UPSC e-gur-Qeurnoeir 3. 66t$l 316
(d) SC/ST <A!6o66uru o grrur_glennaeir 4. 66lO 2g0

(a) (b) (c) (d) '

(A)4r23
(B)4132
(c)32r4
(D)3241
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75' Assertion (A) : The president of India is the excepting head of the state.

Reason (R) : He is the Suprem commander of the defence forces.

(A) (A) and (R) are true (R) is the correct explanation of (A).

Vf (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

sCIgg (A) : 6t,r6u-, (g+rf [&p seureuern eitE6i,T 6eueunrd$g16og) g6D6Do'LrJnounn.

onrramLb (R) : 4yorn rT"ngreup$lein gouuenrgi p6ru6 gerln_n.

(A) (A) tpg,b (R) ArafuroLb erfr, (A) ein srfrun66r efironrislb (R).

,€ (A) LoggLb (R) 6ra;"oLb +rfl, (A) ein efrurr6rr orgron'dob (R) .greueu.

(C) (A) *'flgenneu (R) pegi

(D) (A) peug gemneu (R) srfl.

76- In case of Lok sabha. the quorum to constitute a sitting of House is

af one-renth of the total membership

(B) one-fifth of the total membership

(C) one-third of the total membership

(D) half of the total membership

Loris6r6o6uuqeu €xeooueou pLps]otppqg Gpeoelu-Lneor gerrgl$puL-+ a-gur-glemn- eraro-reolfl6eno oreinug.t

(A) GlLon$p zgrr_glennoofleil r$$tctu @19 ufir(g

(B) GlLongp e grur_gtemnsaflo g$$leb g(D urilg

(C) GLon$p e-gurglennsa.fleb gaiiifleil g(E urnqg

(D) GlLon$p s grur-gleurnsafleb ung Gun
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17. What is the length of road in Tamilnadu in the year 2010-11?

2010-11 gb .ryainraeu prflppnL-rqeu e-on-on sneneusoflein $oririr

(A) 2,60,000 km

,12/ ,,05,557 km

(A) 2,60,000 6ld

(c) 2,05,557 6lL6

(B) 2,58,000 km
(D) 2,62,628km

(B) 2,58,000 6td

(D) 2,62,628 dlL6

(B) I and III
(D) I and IV

(B) I LorbmrLb III
(D) I LorirnrrLb IV

78. SIDBI is
(A) Service Industries Development Bank of India

,g/ Srnall Industries Development Bank of India

(C) Savings Industries Development Bank of India

(D) Small-Scale Industries Development Bank of India

SIDBI oeirugr

(A) 6t,r9r Ge6o6! Glpn$leu a.renns8 o:rfu61

(B) 6r,o$r Sgr Glpn$leu a.rorn$E aLrtuSl

(C) 6t,odr G*r51uq$Glpngleu aronn&fl orrilC)

(D) S,o6t ggr$G1pn$leu etlennssl ourildl

Which statement is correct for Indian planning commission?

I. It is not defined in Indian Constitution

II. Members and Vice-Chairman of it do not have fixed working duration

III. Members do not require any minimum education

IV. Vice-Chairman should be appointed by the Prime Minister

79.

(A) I and II
,t / I, II, III and IV

E5!oai,ni- e'p06D 6tp6. $L-L-ri srfloEgrdg orgl orflu:nemeoa-r?

I. 6t,r6. +ly8u-Ja;enLoul_lr;(5 o:eorlu".rgrisuuL-L-6o6rl el6D6t)

II. z-gurglennseir LoSgLb e-p66lp peoeueun 6fpp'l eoglu-Lnueir eteua;

III. a-g u rglennsef eg 156Dp,Dp6IT6r1 oeuer9$pryLb GaLefurLqu-.r$eueoal

IV. e-p66lp p6D6D6rr6D[ purdluugt r-5][pLDLD$$fi

(A) I LopgLb II
(C) I, II, III Lo$grrLb IV
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80. Observe the following characteristics of a good tax system.
I. Taxation is an instrument of Economic Growth.
II. Taxation for Ensuring Economic stability.

(A) Only I is true
(C) Both I and II are false

(B) Only II is true

rQeinellgelor6)rpdl6l 6'16aror 5>(g p6D6D errfl e,9p 4ryaoLourglein $tuef qsonns e-eirongt

' I. elrflson'Glunlg6nnpny eu6n-frs86nul earriqgesltilgLb anry'otofluno zeir6ngl.

II. errfloen Glunlgennpnr $)areuuqg peinenLo zg$ G+u-:eupno a-eirongL.

(A) I Lor@Lb erfl (B) II LoL_@Lb erfl

(C) I LoggLb II porgr (D) I LogpLb II +rf)

81. Which is the largest salt lake of India?
(A) ^ Sat Tal (B) puticat Lake

,gf Sambhar lake (D) Nako lake

$t$$l u ne9ein u0ouGl u rfl u e-u q q'rfl o5t?
(A) en{i s6r)

(C) enLbunn qrf'l

83. Which is largest plate of the Earth surface?
(A) Indian Plate

,1P/ Pacific Plate

qoslu9ein Glurflu pL-@ erg?

(A) 6r,rdl'p.0
(C) u8r96 pL-@

$1tf noth I and II are true

(B) qeSlsn L- eyfl

(D) pGsn.eyrfl

(B) Asian Plat'e
(D) Antartica Plate

(B) g8u pr@
(D) erainr--nn'6rgenpL-@

82. which of the following gas was the remon for the Bhopai tragedy?
(A) CFC G) CO
(c) coz vln Mrc

r51 etreu 19ar etr6! p fl 6D G u nu na; gL u-, f .6] 6 !F 6,1 tilg unqeuwLo nen au nq crgt ?

(A) CFC (B) CO
(C) CO: (D) MIC
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84. Which of the following is an acidic salt? 
^,(A) NarSon 6 NaHSo,

(C) NarSO, (D) K2SO,

191 einer qger: euCIr p gJ 6n ag el rJ1 eu$peinen Lo er nur$p e-u q ?

(A) NarSOn

(C) NarSO,

85. In pesticides the example for contact poison is

,6 Rotenone

(C) Parathion

(B) NaHSO,

(D) K2SO4

(B) HCN

(D) CrH,

$eE G1sneue$lsafleu, GlpnL-nq nglnqp$pCg 919 a-pnryemrLb

(A) GynrgGenneir G) HCN

(C) GurTngurnein (D) CrHn

86. The higher fatty acid in oil is

(A) benzoic acid

{rf Palmitic acid

(C) crotonic acid

(D) acetic acid

erainGleorruEl6D p.-enen p-utn Gle nqguq etr-6lalLo

(A) GlueinsruEl6elr6leuLb

(B) un.arr-6lrqri etr-6leuLb

(C) lgGrlnL-rnerfl&etr-6leub

(D) er$li-rq.6 eu6leu6
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.87. Match the following :

List I
(a) Equisetum
(b) Marsilea
(c) Cyathea

(d) Lycopodium

List II
Water fern

Horse fail
Clubmoss

Tree fern

ur--qu:eu II

$n Gluqerfl

19$ooq er-rneu

6lerru Loneiu

LorJGlurlafl

1.

2.

o.

4.

(B)

(c)

(D)

(c)

4

1

I

I

(a) (b)

2l
42
34
43

(d)

D

o

2

2

ELbBsailrL-eu rirear m Gl u nrnrisrs :e v(-

UL-lgu.JeU I
(a) n6o$l$lL-L-Lb

(b) r-onnflerSlu:n

(c) err+u:ng$u:n

(d) eoeuriGsnGunrqu-rrjr

(b)

1

2

4

3

(c)

4

1

1

1

1.

2:

3.

4.

(d)

3

3

2

2

(a)

(A) 2

(B) 4

(c) 3

(D) 4

88. The Extra ceilular fluid of blood is

(A) RBC (Red Blood Corpuscles)

(B) WBC (White Blood Corpuscles)

Cf Flasma

(D) Lymph

Srppp$t p-oiror Cl+eu6erofl $ Sryert;

(A) 6trpp flouuugrriseir

(B) 6tr$p Gler.roireoerru-rgr6seir

(C) Lgldlr6iuLDn

(D) 6$bn
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89. Plasma is a cloud of

('A) a -particle
(B) Neutrjno

-){.f Completelv ionized matterv'

(D) Uncharged particles

rfl enreiur-o n ereiru g erpeurneu neurgi ?

(A) .zbeuun goeiroeir

(B) 16lurL-rflGeorn
-e

(C) (tr(gorglLb s{ur60fl peneuugeu zdren gtsonaeh

(D) rileirseolour$p g1ooirseir

The science of time measurement or clock making is

(A) Astrology

(B) Chronology
^

Vf Horology

(D) Hymnology

Gplpeop elorer9@peu ereueug 6r+sr[ CI]r+6x6nrD$peu u$flu srdla,Slu-reu ereinug

(A) ereiurqqn-6Dg|t

(B) riGrlnGeorneun.$

(C) penTireug$

(D) gDr-bemneug!'l

90.

91. R-C couplins is used for
-)

Vf Voltageamplification

(C) Current amplification

R-C r-9leoeuoru Sein u u-r oinu n@

(A) rfleinenqg$p 6u19d;sLb

(C) r-6leingtL-L-6u1gBsLb

(B) . Power amplification

(D) Directamplification

(B) gpp6u Gluqg6uLb

(D) Gpn GugdsLb
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92. Match the foliowing and choose the correct option :

(a) Ajeya Warrior
(b) Ekuverin
(c) Vinbax

(d) Imbax

(a) (b)

(A)34

63 1

(c)2 r
(D) 4' 3

(c)

I
4

4

2

(a) elGgu-rn erlnnutnn

(b) errigGeurfleir

(c) or9leiirunseiu

(d) Sbunrieiu

(a) (b) (c)

(A)3 4 1

(B)3 1 4

(c)2 1 4

(D)4 3 2

1. Indo-Maidives joint military exercrse

2. India-Myanmar bilateral military exercise

3. Indo-UK joint Army training exercisb

4. India-Vietnammilitaryexercise

(d)

2

2

D

I

E Eleairuar ! en gr 61 u n g$$ +rfl u-,'reor er9l en L-err u-L Gp n$Glp@ :

Vijay;r Bank and Dena Bank are merged with

J-U Bank of Baroda
-,(B) . State Bank of India

(C) Canara Bank

(D) Indian Overseas Bank

efl gu-.r n ar rfu 6l Lopgb Gpenn" o.r rl'ldl

(A) un'rfuB +"'"r uGrynu

(B) eiuGL-L- unriLri +J.u S,oSr"
(C) s66r[n unriri
(D) S,o6tuin ga:n Sciu unriLijr

$t$$ u: - Loneu$eq $tareunpp rngleu r u9l g$l

$p$ u-r - r-61 u.l neiirLo nn $t gp ru U [ff @t 6]r u u51 f S)

$,rGpn UK $taoeuor$p [rglrelr ru9l$Sl

@$$tu: -oE u: L-pnLb [r@t6l u u9lCIfl

s-L-eir $ elr aontie u u L- @ onon gt

1.

2.

J.

4.

(d)

2

2

J

I

93.
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94. who won the UNBSCo Asia pacific award of Merit 2017?

,rf brr 
^anganarha 

swamy temple, Sri Rangam lndia
(B) Holy Trinity Cathedral, Shanghai China
(C) Gateways of Gohad Fort, Gohad, Inclia
(D) Wellington Fountain, Mumbai, India

qGenoiuGsno$ein gslu r$lL-9lti agg$enem pCgdug6rT €l+uL_r6i)Lug6D 2017d Gereinp Sr;r ogL?
(A) $CD et'ld,s,Drrp6i'T geuuLb. $rrnorn. @,r$-n
(B) Ggone8 qflafl+ s$r_7eu, en6insrur, S6rTn

(C) Gsnsl Gonr-*oorrurglein GolGer, Gsnsr, Spd."
(D) GleueSlrarein rqainL_ein, grLbenu, 6,rg.n

95' Which country has become the world's first country to enforce equai pay for women an4 men
from January 2078?

Finland

Iceland

generrfl 20i-Bd, qain, Gluain 6rCf-CqeCgLb eLo ecu$)u:Lb ereing erdloslpp e-eudleu gpef pn@ org?
(A) r-gleineun$g ($) Erynetrreiu

(C) geiueun$g 1p) ce,srein

96' Otry to privacy is a Fundamental right, belongs to which of the following article.

Vf Part III of Constitution article from 12 to 3b

(B) Article 893

(C) Article 370

(D) Part III of Constitution article 40

paflqrflarLo oreinugt crein a-rfleoLo ereinp $r$$ru sT8u:eb sl6nroul1 eL-r-$$lein er$p or7$$eir S$ eu*gpgl
(A) etrySlu-:eu.e160)toLrq eL-L-$$eiir 3 arg rgrftorgeiir 12 gpeb 35 ereoqqeir6n +7$go6ir
(B) erlggL 393

(C) +7$gr37o

(D) =e176luou i)t6orour-.1 eiL-$$lein 3 eug Lgrfleflein 40 eug r-Qfi.le4

(A)\lr (B) France

(D) Sweden
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97. India's first bullet train is planned between and stations, which is
initiated by out Prime Minister on Sen. 2017.
(A) Delhi - Mumbai

Cleul-Lbun 2017d) 6,o6. r-9l7pLo7neu GlpnL-rusuuL-L- Sr$$u-rnegein gopef qa;euL- $Tuglef $rL-LbLDpgb ps[p6lp(g $reoru9eu Gleu6bul- e-oirengt

,9/t Ahmedabad - Mumbai

(A) +6Ddl- grLbeoru

(C) etoLopnuri$ - goLbeou

(A) 50,000 dl.L6

(c) 1,00,000 6l L6

(B) Chennai - Pune
(D) Chennai - Mumbai

(B) Gls6in6n6in - Llc6irr

(D) Gle6irr6o6ur - g:Lbeou

,gf Saina Nehwal

(B) 20,000 6}.Li

(D) 30,000 61.16

98. Who won the 'Come back of the year award' in the ESPN India multi sports'for the year
2018?

(A) Dipika Paliikal
(C) Mithila Raj

(B) P.V. Sindhu

,g 3o,ooo kms

2O1B gLb geunrq$sneur ESPN-Ar$$unerneu arprtuauu@Lb 'sr-b Gu6 +"'"u 6 6r.n uggg'
(Come back of the year award) Glrgpo.:n unn?
(A) $r9sn Gue6lSs6D (B) r5t.e6l. Sgg
(C) r-6)$$leun qng (D) enuremn Gtpernef

99. National Highways Authority of India fNffail has constructured nearly world-
class national highways till Sep. 2012.
(A) 50,000 kms
(c) 1,00,000 kms

(B) 20,000 kms

$r$$une0ein Gpflu-.r 6)p@@+neoeuseir .?tenarurup66in enfrlEl6b SnrrpSlDcnem e-euu prl-rjr
arnu-r$p GpSul Glp@@+neoeuseir 6leuuLbun 2017 or6D[ €)j6Dl-rie uur--@eirorem.

100. The new payment bank launched by Union Finance Minister on November 2017 is
(A) Airtel Payment Bank (B) India post payment Bank
(c) Fino Payment Bank .ff paytm payment Bank

pio:Lbun 2077eu8S1 glarLo++7n-ef geuridl eooutisuur-L- GuGlLoaflnr-- eunudl o-g?
(A) elnGlL-er GuGlLoainL- ouridl (B) 6,osf r puneu GuGlLoainL, eurrdl
(C) EGenn GuGlLoainL_ arri6 (D) Gur+urb GuGlLoai,nL_ euruCl
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